TS2003 M3x12 Screw
©) ((omm— ..

TS2003/TS2006 M3x10 Screw

© Front / Rear Bumper

TS2007 M3x12 Screw
© (o— ...

©

@ Front / Rear Bumper

TS2001 M3x8 Screw

TS2001 Small clip

@ Rear Bumper
TS2008 M3x10 Screw




O Front / Rear Bumper

T02083 M3x15 Screw

©

<

T02082 M3x10 Screw

© (o

@ Body shell / Wheel

T02084 M4 Flanged Nylon Nut

T02086 Small clip




